N
ttS 19 oﬂﬁ\o L o] ZAlo]1l LACB = 25°, 5.0ptAB = 5cm
d o, 5.0ptAD 9] Zol=?

@ 10cm @ 1lcm @ 12cm @13cm ® 1l4cm

50
A\
D>~ —C
. 7~
C 2D S AZ3HH 5.0ptAD o] AF7h2 65°

25°:65° =5: 5.0ptAD
—~
- 5.0ptAD = 13(cm)




O ROl A 2x o] 2715 F5HH?

@®)26° @ 28° ® 30°

o
@ 32° @ 34° v
A B
3 BC 9 tiste] /BOC & S 7)1l /CAB & ¥FZo|tt,

IX = %[COB = 26°




3.

the JF 3 2ol & AB 7} ¥hgolar,
/(PAB = 42° & W, /ABP 9] 27| &
52

@ 42° @ 44° 3 46°
@)48° ® 50°

42°

"
5.0ptAB 7} HHlo| 2 2

/APB = 90°

- /ABP = 180° — 90° — 42° = 48°




4.

o5 Jd™elA oD =
~ A

xO
5.0ptAC = 5.0ptCD 217 g of,

x o] 27|=?

@ 62°

@® 58°

9 C

B

@

3 68° ® 76°

A7) 2
L x°=36°x2="T2°

N N\ _ _
5.0ptAC = 5.0ptCD ©|B2 % o tg 957 & F417te)




O& 2" | H A B, C D7t

A
A ol A== wx 9] 2715 T
ik
D 45° @ 50° @ 55°
@60° ® 65°
30°

/CBP = /DAP = 30°
. /x=180°-90°-30°=60°




6. o5 IHHAA x4 2y O] 2715 F5HAE?

@290° @ 300° ® 310° @ 320° ® 330°

Lx=110°x2 = 220°
Ly =180°-110° = 70°
Lx+ Ly =290°




7. & 1™”IA x 0 A27]5 F5HE?

@® 40° @ 45° @ 50°
@ 55° ® 60°

7N\
5.0ptCD 2] Y97}
/CAD = /DBC = 15°
. ABPCO|A] zx =15°+35°=50°




oh& J%elA P & 5 @ AB, CD 9 wHolx
4rem ]tk /ACD = 27°, /BPC = 57° & W], ©]

9

A D
/\
/7
Cr=y =8B
@ 8rcm @ 12rcm
@ 20mem ®)24rcm

BC

2ol
o] £éo] 2

o4

fol
& 1o

o

i)

o
kel
i)

@ 16mcm

AACP/SﬂH (PAC = 30°
5.0ptBC 9] SAZF-2 60°
CoRe] = ol drx 6 = 24n




9. Hg22Hd 0 E 1™ Aol
tt. AD ¢} OC 7} B3y uj,
7N\
5.0ptAD 2] Zo]&=?

D36 cm @ 37 cm @ 38 cm

30°:120°=9 : x
© x =36 (cm)




10. ohg T-fA wx O] 2715 F3H?

o3 @3 0400 @

® 50°

B

/x = /DACo©o]aL

(BAC + /DAC =95°
(DAC=95°-60°=35°
. /x=/(DAC =35°




11.

oS 1T -2 A 0 oA LACP +
/BDP 9] 3F& F5H?

@® 86° @ 88° G@)QOO

@ 92° ® 94°

B

H0¢pE dAdstd

LAOP = 2/ACP

(BOP = 2/BDP

. LAOP + /BOP = 2/ACP + 2/BDP = 180°
. /ACP + /BDP =90°




12.

th 19 9] AABC °lA A M 2 BC A
o] 30|11, ABLCE,ACLBD ©|t}.

(EMD = 50° & ©], /A & F7]|E +
SHH?

@® 25° @ 30° ® 45° @ 50° (@)65°

~&B

/BEC = /BDC ©|2& 4] ¥ B,C,D,E & 3 ¥ $jof 1,
BM =CMo|B22 H M 2 9] FAelt}t. /EMD = 2/EBD =
50° o|E& /EBD = 25° o]t}

w2tA AABD A ZBAD = 90° — 25° = 65° o|t}.




13.

S 2o A PE=Y 09 F
d AB, CD 9] A&49 wyo|rt,
(AOC = 72°, /BOD = 24° & o,
/BPD ©| 37|19

@® 20° @ 22° ® 23° @)24° ® 25°

B

AABC:%X72°:36°, ABCDz%X24°=12°

(ABC = /BCP + /BPCo|E&2
36° =12°+ /BPC
. /BPC=24°




14. o< 24 50ptBD
N\
5.0ptCE ©]1, /AOE = 98°
EH, /DPB 94 EL7]1—‘:—?

ne

@® 45° @ 46° @ 47° @ 48° ®)49°

B ~

(CBE = a, /ABC = b 2tal S}H,
a-+b=/ABE = %AAOE =49°

/CBE = /BCD °|B&&
ABCP °|A /BPD =a+ b =49°




15.

~~ ~ N

ohe 93} ZHo] ¥ 910l 5.0ptAB : 5.0ptBC : 5.0ptCD =2 : 3 :
¢ H AB,C,D E Fol @ AB 9 & CD o dFAdye S
gt 5}A}F /E = 30° 9 W, LZACD 9] A7]=?

@® 21° @ 21.5° ® 22° @)22.5° ® 23°

—~ —~ ~~
5.0ptAB : 5.0ptBC : 5.0ptCD = /BCA : /BAC : /CBD
(BCA = 2x, /\BAC = 3x, /CBD = 4x

(DBA = /ACD =y 2} 5} /BAC = /DCA + 30° |22
3x =y + 30° o|t}.

AABC A 9x +y = 180°, 3y + 90° + y = 180°, y = 22.5°

.. LACD = 22.5°

4
E




